55

ﬂ.i

m’\'.

7 L

:
L

4-40 INC— g . 3
I
Lt

94,3

lo>
o

MARK

PLACES | ZONE ECN DATE

BOM LIST
ITEM PART NAME Q'ty NOTES
1 PLASTIC HOOD 2 ABS
9 2.1 | LONG BOLT ? #4-40
2.7 | SHORT BOLT ? #4-40
3 NUT 7 M3
4 LONG SCREW ? M3
5 SMALL WASHER ?
6 SHORT SCREW 2 M3
7.0 | METAL WASHER 7 M3
71 7.2 | PLASTIC-1 WASHER 2 ABS
7.3 | PLASTIC—2 WASHER ? ABS
PN M3‘\A ;3
5 - UNC 440
i e e B 57
Short BOLT NUT t=2.3mm

SMALL WASHER

Hef sl

Shanghai ZhuoRi Electronics CO,LTD.

NATERIAL FINSH
i . COLOR QUANTITY
DES\GNED e N0,
CHECKED Ry | A0 [soue | 1 wr [mm | g [ A4
APPROVED THE THRD ANGLE PROECTON @ = | SHEET  OF  PAGES




